13 BASE - 1 PLY, 0 GAUGE, 32’ - TYPE I
14’ BASE - 2 PLY, 3 GAUGE, 32’ - TYPE II

6

REMOVABLE POLE CAP

SIMPLEX FITTINGS (2 SETS - 90° APART)
TO BE LOCATED BY THE ENGINEER

3/4" THIMBLE EYE BOLT
STRANDVISE

ROUND OR MULTI-SIDED POLE WITH
CONTINUOUS TAPER 0.14°/FT.

FURNISH ANCHOR BOLT
COVERS WHEN SPECIFIED
ON THE PLANS

3-0* 6

NOTE:

8-0" TYPE I
12’-0* TYPE II

a{—— CLASS “A’ CONCRETE
-|_— 3 DIA SCH-80 PVC CONDUIT

HEX NUTS (GALVANIZED) TYPE II

g
HEX NUTS (GALVANIZED) TYPE I

> p>—4 - NO. 5 STEEL RODS-TYPE I
. 16 - NO, 7 STEEL RODS-TYPE II

> | — 5/8' x 18’ COPPER COVERED
GROUND ROD

SIGNAL POLE INSTALLATION (STRAIN POLE)

REVISED 4/21/2021

I—— 40 SQUARE—\—I

NOT 7O SCALE

NOTE+ BACKPLATES
SHALL NOT BE USED
ON SPAN WIRE

>
<<
=
APPLETON FT200 |3
OR EQUAL |
3 STANDARD PIPE L
WELD ALL AROUND
N\ VALL OF POLE —PAVEMENT

IN SIDEWALK AREAS, POLES TO BE SET AT GRADE WITH NO CAP
TO ENSURE AD.A, COMPATIBILITY.

=~— 4 - 2 1/4" x 96’ ANCHOR BOLTS AND DOUBLE
6" ANCHOR BOLTS AND DOUBLE

SIGNAL POLE NOTES

POLES SHALL BE_ADJUSTED BY USE OF THE NUTS ON
THE ANCHOR BOLTS SO THAT THEY ARE VERTICAL
WHEN ALL SIGNAL HEADS AND SIGNS ARE INSTALLED.

POLES SHALL BE LOCATED NO CLOSER TO THE ROADWAY
OR CURB THAN THE LINE OF FIXED OBJECTS IN THE
IMMEDIATE AREA AND IN NO CASE LESS THAN 2’

FROM THE ROADWAY OR CURB.

CONCRETE, BAR REINFORCEMENT, BASE AND GROUNDING
TO BE PAID FOR UNDER CONCRETE BASE ITEM,

BEARING SURFACE OF HOLE SHALL BE UNDISTURBED
ROUND OR _COMPACTED SOIL. IF A FORM IS REQUIRED
IIIR PRECAST BASE IS USED [R ANY SPECIAL TREATMENT

REQUIRED IT SHALL BE ADBE.


AutoCAD SHX Text
4'-0" SQUARE

AutoCAD SHX Text
HEX NUTS (GALVANIZED) TYPE I

AutoCAD SHX Text
REMOVABLE POLE CAP

AutoCAD SHX Text
SIMPLEX FITTINGS (2 SETS - 90%%D APART)

AutoCAD SHX Text
TO BE LOCATED BY THE ENGINEER

AutoCAD SHX Text
STRANDVISE

AutoCAD SHX Text
SEE MOUNTING

AutoCAD SHX Text
WEATHERHEAD

AutoCAD SHX Text
PAVEMENT

AutoCAD SHX Text
APPLETON FT200

AutoCAD SHX Text
OR EQUAL

AutoCAD SHX Text
WELD ALL AROUND

AutoCAD SHX Text
WALL OF POLE

AutoCAD SHX Text
A.

AutoCAD SHX Text
POLES SHALL BE ADJUSTED BY USE OF THE NUTS ON

AutoCAD SHX Text
THE ANCHOR BOLTS SO THAT THEY ARE VERTICAL

AutoCAD SHX Text
WHEN ALL SIGNAL HEADS AND SIGNS ARE INSTALLED.

AutoCAD SHX Text
B.

AutoCAD SHX Text
POLES SHALL BE LOCATED NO CLOSER TO THE ROADWAY

AutoCAD SHX Text
OR CURB THAN THE LINE OF FIXED OBJECTS IN THE

AutoCAD SHX Text
FROM THE ROADWAY OR CURB.

AutoCAD SHX Text
C.

AutoCAD SHX Text
TO BE PAID FOR UNDER CONCRETE BASE ITEM.

AutoCAD SHX Text
D.

AutoCAD SHX Text
BEARING SURFACE OF HOLE SHALL BE UNDISTURBED

AutoCAD SHX Text
GROUND OR COMPACTED SOIL. IF A FORM IS REQUIRED

AutoCAD SHX Text
OR PRECAST BASE IS USED OR ANY SPECIAL TREATMENT

AutoCAD SHX Text
REQUIRED IT SHALL BE A.O.B.E.

AutoCAD SHX Text
CONCRETE, BAR REINFORCEMENT, BASE AND GROUNDING

AutoCAD SHX Text
ROUND OR MULTI-SIDED POLE WITH

AutoCAD SHX Text
CLASS "A" CONCRETE

AutoCAD SHX Text
3'-0"

AutoCAD SHX Text
A.O.B.E.

AutoCAD SHX Text
GROUND ROD

AutoCAD SHX Text
HEX NUTS (GALVANIZED) TYPE II

AutoCAD SHX Text
%%USIGNAL POLE NOTES

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
R

AutoCAD SHX Text
Y

AutoCAD SHX Text
G

AutoCAD SHX Text
DETAIL 

AutoCAD SHX Text
4 - NO. 5 STEEL RODS-TYPE I

AutoCAD SHX Text
16 - NO. 7 STEEL RODS-TYPE II

AutoCAD SHX Text
8'-0" TYPE I

AutoCAD SHX Text
%%USIGNAL POLE INSTALLATION (STRAIN POLE)

AutoCAD SHX Text
 3/4" THIMBLE EYE BOLT

AutoCAD SHX Text
15'-6" MIN.

AutoCAD SHX Text
17'-0" MAX.

AutoCAD SHX Text
13" BASE - 1 PLY, 0 GAUGE, 32' - TYPE I

AutoCAD SHX Text
14" BASE - 2 PLY, 3 GAUGE, 32' - TYPE II

AutoCAD SHX Text
CONTINUOUS TAPER 0.14"/FT.

AutoCAD SHX Text
12"

AutoCAD SHX Text
6"

AutoCAD SHX Text
6"

AutoCAD SHX Text
12'-0" TYPE II

AutoCAD SHX Text
3" DIA. SCH-80 PVC CONDUIT

AutoCAD SHX Text
4 - 2 1/4" x 96" ANCHOR BOLTS AND DOUBLE

AutoCAD SHX Text
4 - 2" x 96" ANCHOR BOLTS AND DOUBLE

AutoCAD SHX Text
 5/8" x 18' COPPER COVERED

AutoCAD SHX Text
IMMEDIATE AREA AND IN NO CASE LESS THAN 2'

AutoCAD SHX Text
3" STANDARD PIPE

AutoCAD SHX Text
FURNISH ANCHOR BOLT

AutoCAD SHX Text
COVERS WHEN SPECIFIED

AutoCAD SHX Text
ON THE PLANS

AutoCAD SHX Text
6" 

AutoCAD SHX Text
NOTE:

AutoCAD SHX Text
IN SIDEWALK AREAS, POLES TO BE SET AT GRADE WITH NO CAP

AutoCAD SHX Text
TO ENSURE A.D.A. COMPATIBILITY.

AutoCAD SHX Text
REVISED 4/21/2021

AutoCAD SHX Text
NOTE: BACKPLATES SHALL NOT BE USED ON SPAN WIRE


